Alg2Trig Name: Ke

Unit 4 Practice Quiz #2 Date:

I. Use the Remainder/Factor Theorems to prove that the given number isa
zero of the polynomial.

1. f(x) =x3+3x%2—34x +48;3
2. f(x)=3x3—-16x%+3x+10;5

II. Find all the zeros (x-ints) of the following polynomials.

f(x) =x3—-8x?2+5x+14
f(x) =x3+x*—-13x+3
f(x) =x34+2x%—34x+7
f(x) =x*—3x*>—4

fx)=x*—4x3+4x-1
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111, Write the polynomial of least degree with the following zeros.

8. 3,5,-1 /u )
90 2, i’ 'i ; -
10. 'I,Z'l'i,z-

1V. Graph each function and plot any x-ints. (Use your calculator)

11, f(x) = 1—10 x+3)x—-Dx—-4) x-int(s): '5| ""
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12. f(X) = +2)(x2-x+1) x-int(s): <R ‘ ) /)
13. =2(x + 2)%(x + 4)* x-int(s): . :

3. f(x) =2(x+2)*(x+4) () 3,4 N
V. Estimate the zeros AND the ordered pairs of any mins or maxs. _
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VI. Use your calculator to estimate the zeros and the ordered pairs of any
mins or maxs.
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16.f(x) = — a3 4x -2 x-int(s) n(s) qu(s)
17.f(x) = x53—— 6x3 + 9§c x-int(s) I”#f (s ) x(s)s‘ .’1:,. 96)
18.f(x) = x* —2x3 - 3x% + 5x + 2 x-int(s): min(s)£* x(s): ¢
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1. f)=x*-3x—-1 2 f)=—2 x> 3 f)=Va"-3 a4 f(x)
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IL Find the inverse. S
5 y=-x—75 6. f(x)=+x+1 7. flx)=2x3-7
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Iv. Graph the foll

lo.y=1x2—2 11. y=3Vx —1

N

Find the end behavior.

14. y ={x"éx4 —3x?—x—-1

VL Use long or synthetic division.

17. Qx* —3x%2 —x — 1)+ (x* + 1)

& R x4 N

19. (2x* —3x3 —2x? +5x+ 1) + (x + 3)
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O\Q'ﬁé using your knowledge of transformations

12. y=—|x+2|—-3

158. y=x"—3x3 +4x5 - 2x + 1
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13. y=—(x+1)°3+2

16. y :{";xs —4x+1
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18. (° —3x -+ (x*—x=1)
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9%+ 2x + 2) + (x-~—2)
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